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The question paper comprises of two Sections, A and B. You are to attempt both the
soctions.

All questions are compulsory

Al queshions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 Lo 3 in Section-A are one mark questions. These are o be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

. Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each .

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. _ |

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills.  Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you,



9. Question numbers 34 to 36 in Section-B are yuestions based on practical skills are two
marks questions.

HA-3 / SECTION-A

1 FEpE S gan & HE9- TIET 7R 31 g e @ AW fefa) 1

Mention the respiratory unit of lungs and excretory unit of kidneys.

2 fopell wToTeh T 3cq= @sm W1 ey 79E 5w ama My favarar v, waifed g ) sl a1

g fafen |

Write relation between heat energy produced in a conductor when a potential difference V is
applied across its terminals and a current I flows through for time t.

3 91 & STTETERTT T w1 1 e § 2 ‘ 1

What is meant by non renewahle sources of energy ?

4 #13 vad usrafid Afits e w1 3w fireny e W wER W9 snar 31 3§ Afie i I 2
yieafan 1 wfvdt @1 fer w@t § fear s &) 1@ A w1 9m @ g fafee) ww e & fau
i T o & =9 T A 1 3fa aen U wia faer s 8, et e fafam)

A white chemical compound becomes hard on mixing proper quantity of water. It 1s also
used in to maintain joints in a fixed position. Name the chemical compound and write ils
chemical formula. Write the chemical equation to show what happens when water is added
to this compound in proper quantity.

W

Fd e A (sifadtaa) B AfufEm s Ategs o &1 S 3 silege &) a3 aem g a2
A faard e fAzom ) A o 20 31 A% ae U E 1A S 2 AT I ) i e

An element reacts with air (oxygen) to form its oxide. When dissolved in water the solution
turns red litmus blue ? Is it a metal or a non-metal ? Justify your answer.
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What 15 the role of ’eripheral Nervous System 7 Name its components,

7 A= ymrafae sfafwasdi 1 4 g & fed <1 Jaw fofad .

(1) f4% % 211 w7 Fewgfs 57 Ten 5 R

(i) @2 322 faerad § diEfan sEeEe faers e s @)
(i)  UF TOR FHE H WETA H oS e T T T e e #

Write two observations each for the following chemical reactions :
(1) Dilute sulphuric acid 15 pouréd aver zinc granules
(i) Potassium iodide solution is added to lead nitrate solution

(ili)*  Lead nitrate is strongly heated in a hard glass test take

8 4 50, 77 1 T WEREE F Wy fAert # wanfi fan wwn €, & fo axfisfron o &
50,+2H,5 - 2H,0+35
T arfvferan § Tysfa ge, aTeefae e, SRfE e auT aTeRtan s fafed |

When 50 gas is passed through saturated solution of Hydrogen sulphide, the following reaction

QCCuUrs |
SO, +2H,5 + 2H 0+35

For this reaction name the substance oxidised, reduced, the oxidising agent and reducing agent.

g wer "l H a7 vaEtas o fafad fim w3t |2 % = s s
(i)  u=fTsFweH

(i) ST IS F W & FUH

Page 3 of 14



=
(iii)  HYEE ¥ FI2 G YA G e w9 8
State the chemical property m each case on which the following uses of baking soda are based

(1) as an antacid

(ii) as a constituent of baking powder

¥
(111) applicd ona honey bee stung, area

10 e Fif e R o
Gy  fa% % o gFl 3 A Fw qews faed # e s
Gi) AT T9 I#e & & Faw acte faerma § wan s
(i) @@ I wH T W F qepe faered  go < E fer gamm s

State what would happen if :

fi) some zine pieces are placed in blue copper sulphate solution.
(11) some copper pleces are placed in f}réen ferrous sulphate solution,
i
(iii) an iron nail is dipped in a solution of copper sulphate [or some tme.

11 et ) weer w PR g Tensd SR gEd vareTel! S TEArTER i A S

]-‘,xpldin the structure of bronchi with the hi"lp of a neat diagram and label m it (l) trachea
(11) bronchiole '

12 g} % Z 29 W Sl € YR i il TR | W 1 e 98evl gR1 wHeiEd |

Write two ditterent types of movements shown by plants. Lxplain by giving one example for
each. '

13 WA g A T A i 1 e o oo g % et de fe W ugd S L
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Plants absorh water from the soil. Explain how does the water reach the tree top ?

14 ¥ HE sAdadydE Helfan ammEre wfenteen frat o fom 6 o gwdt $7 o9 I oA g 3
FITT 1 @ g gfe it § sarfga sma =1 famn ) sorfira @t fom s ? =men it

Can a freely suspended current carrying solenoid stay in any direction ? Justify your answer.
What will happen when the direction of current in the solenoid is reversed ? Explain.

15 mwmﬂ%ahﬂﬁéﬁaﬁmﬁwmi? Tl S| HES fEfae) fEr 3
W%ﬁqmmmmmmwmmwmfmm&wﬂmmn
F1 fFa veEn woifaa fre s 3

What is meant by potential difference between two points in an electric circuit ? Name its Sl
unil. Write the name of the instrument 'used to measure potential difference and show how
this instrument is connected in a circuit,

16 AT o feizga wfigy &) stegm e o 3 O & wfidvs & fadl & o favarm Tm w3

3 () 40 541
A ARARAA WMWY

.|,____..(.}._ B ST
v

Study the following circuit and determine the potential difference across
3 {1 resistor. '

3l 40 510}
LA AARAA—— AAAAAA A
I |
i |
i :f

|
‘ 114 {o) : |
v

17 fa g e e S o SEeRt w1 WA AR T A T - sue Semee die i 3
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(a) @ * gm weiEa gea fafaa

(b)  HI Sl A T 9l Herdeied & 1 @i S gt g9ed =i Aifea #138 svEn #F fog
T

Havi was using calculator o do some calculations. While dc)ing 50 h'i_-'{. calculator St{)pp-.-‘d
working e kept the caleulator near the window for some time, exposed to sunlight, After
some time he could use the calculator again. His friend Mohit who was using a battery
operated calculator, watched him and told him that his calculator was better in the sense that
he could immediately recharge the calculator by charging battery but Ravi was not convinced.
He explained to Mohit the advantages of solar calculator and convinced him to adopt it.

(a) State the values exhibited by Ravi.

(b) List the advantages of using a calculator driven by solar energy which convinced
Mohit too to adopt it.

18 afs I 1 a1 A o o AEa £ O @ T fem W wea € 9 U SRR B ey fe et
LM T E e o &) safen ?

Ii energy can neither be created nor destroyed, explain with an example as to why we should
warry a bout our energy réesources s

19 (a)  foam ye @ ofeam dfsd fasgedl & fmin & @ ey fafad

(b) U MR X I ufHe wiEm N wgEs et €, o9 sieiied & wy o w6l 9 @ Al siiege
Y aqdt &, S wehfa # 3vaedt B X 9 Y T OURAE wia | SHaEEE @ HO 38 NaOH

# sifwferan fofed |
(a) Define the term alloy. Write two advantages of making alloys,
~(b) A metal "X which 1s used in thermite process, when heated with oxygen gives an

oxide 'Y which is amphoteric in nature. Identify X and Y. Write down the reactions of oxide Y
with HC! and NaQOH.
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Write Dalanced chemical equation for the following statements and state the colour changes
you observe when :

(1) [ron nail is kept immersed in copper sulphate solution.

(11) Potassium iodide solution is added to lead nitrate solution,

(111) Lead nitrate powder is heated in a boiling tube,

() When a piece of zine metal 15 placed in copper sulph,’ate solution.

(v) Barium chloride solution is added to sodium sulphate solution.

20 (a) A sim e A A s Tl el 9t ek e g E )

(b)  UE WIRY l UIYA WM § WHIEA 1 W gEd [EwEd g OwE o ged § g6 A
T2 =1 wal wehn fafan wEs o ofa % v 1 m fafae
(a) Name one organ each where growth hormone is sy'nthesis.ed in man and plant.

(b) List the sequence of events that occur when a plant'is exposed to wudirectional light,
leading W bending of a growing shoot. Also name the hormone and the type of movement.

22 (a) fe= g sit gerred 9/ % <9 fadieq 03 9 99 g fafeg )

(by i dfFs wfem d=am e (Wm)ﬁﬁﬁwlﬁwaﬁmﬁgwmmﬂﬁ
TR P g4 iz 4 i A9 el farg ot aen g8 e F i SR & foed) fag R e
1 o 0§ 2 gw v F s e e e sepoenm fen 3w A ferfa

(a) Write three distinguishing features between an alternating current and a direct
current.
(b) A current through a horizontal power line flows in east to west  direction.  What is

N = _faan
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the direction of magnetic field al o point directly below it and at a point directly above it 7
ame the rule vou have applied in this case.

23 mmmﬁuﬁmﬁam%ﬁwmuﬁiﬁuﬁmmﬁlw’\%wmﬂ‘izﬁ.
e A RIS

——"— e —— ——
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(1) ﬂﬁﬁﬁarmmﬁﬁqaw%mwm@rﬁ:ﬁﬁmaqum%?
(i) Wﬂmgﬁﬂ?ﬁ%mﬂmﬂﬁaﬁmﬁﬁ?mmwﬂ%ﬁwaﬁrwaﬁ?

(iii) :an?#wmwamr%aﬁimﬁmﬁaam%! sﬁﬁtﬁmwﬁz\ﬂmwuﬂﬂﬁaﬂ
and a2 A D a3 e & i 2 QO 8, D B = qW w1 WY Fn 2

List four factors on which the resistance of a conductor depends. The resistivities of some
substances are given below.

[taterial 1A K = D E B
I - — - L m——-— _— - =

Resistvaly | x0T 8 | adx 0-8 1 10x10-8 |96x10~8 100x10~ 0
| (£2m)

Answer the following question in relation to them giving justification for each -

{1 Which material is best for making connecting cords ?
(ii) Which malerial do vou suggest to be used in heater elements ?

(i) Youhave two wires of same length and same thickness. One is made of material A and
another of  material D. If the resistance of wire made of A 15
2 2, what is the resistance of the other wire ?

%

24 7 1 ama fem fafae 1 kwh S GREER! zoqfaa =+

e T e 3 SFE 6 V 3750 mA B 1 de BRI 4 U H I all TR ferd FY
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27

28

State Joules law of heating. Establish the relationship between 1 kWh and 1 joule.

Atoreh bulb is rated 6 V and 750 mA. Calculate the energy consumed by the bulb in 4 hours.

WrT-a/ SECTION - B

ats g A L C) e fen s @ faers b pH dm-

faf 55 () <7 & 7 i o
HCEs added o distilled water, the pH of new solution will be”:
8y . =¢ (b) <7 &), 7 W) 0

HCI 3 CHACOOH (U8dTs# a1vl) # wam wrzm & frermi § fagal pH #4 i, oe
(a) HCT #1 faega e
(b) ATz a7 =1 Frer '
(c) %Wmﬁﬂhm%ﬁqﬂmﬁmfﬁmﬁrmﬁnﬁ%l
(d). ST AT TH SAAT ST Hehal | :

Out of HETand CHy COOH (ethanoic acid) of same concentration, the solution with lower pll
valine is -

(a) HCT solution

(b CH3 COOH or ethanoic acid

(c) It depends upon the quantity take for testing

() Can’t be predicted.

s Tl ferd fadl faers 0 SR F1 FE g v ﬁ H9g =g g e e farE s
wfwafda € a1 e § fermn faerm §

(a)  ZnSOy (b)  CuSO.

(c) FeSO, (d) Alz(S504)3

An iron nail was dipped in solution kept in test tube. After half an hour, it was observed that
colour ol the solution has changed. The solution in test tube was :

(a) /S0, (b) CuSO,

(v) I, () Al{50,)s

r

anqwr—rﬁgmwmﬁﬁfﬁqmaﬁ@eﬁﬁmLﬁm:{ﬂ?mhagﬁa{wawﬁWﬁw
& v 1 ufiadd gan ¥

(a) A1+ A g1 BU |
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(b) TEASTAE
(c) TEE I e |
() URAATER R

Shanu added a few iron filings to 5mL of ZnSO; solution in a test tube. The correct
observation for change of colour will be:

(a) blue to pale green
(hy i remams colourless
() colourless to blue

() colourless to pale green

29 Thmﬁﬁ_qfnﬁrqué:az?s}mfﬁ‘t{pmﬁﬁawﬁﬁhaﬁqgﬁmmﬁm:mﬁﬁﬁq 1
UethRe Gy SRR & faeigd 91 Eﬁ?mmﬁ?aﬁmﬁéaaanzmﬁmmmqﬁq;

(2) G A - 7 Tl T, qwEAe B - Al Y SRA W1 0¥ eEviy fremy @ A
e

() vl A - Uerfafgan | vetafrm w0 s davie faemm @ frenfa fe g B
F1g atfuferar 781 |

() A A - PR sl T8, T B- 18 sifufen TH

() sl A - wld sifilnan T8, ToETed B - st Uit #5 s sfuw afsa @ sgfeu
faeem #1 i ofeataa & wan
Geeta ook Aluminium  pieces and added them in two test tubes A  and B.

A containing aluminium sulphate solution and B containing ferrous sulphate solution.
Correct inference drawn by her on the basis of her observations should be -

(a) Test tube A - No reaction, Test tube B = Al displaces iron from the sa.lt solution.

(h) Test tube A - Aluminium displaces aluminium from its salt solution, Test tube B - No
re_actinn.

(c) .'i't-sl' tube A = No reaction, Testtube B = No reaction.

() lest tube A - No reaction, Test tube- Tron being more reactive then aluminimum
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changes the colour of the solution )
30 derd uftgy s # X A A : 1
20V
830 SR
\YJ ] _.05A
I v il 112 '
l_.......---.-.. . . - :P_{ I—_———r- -‘\_r’:-_,":!':\f\u"
Rheostat :
(a) 1042 (by 20© (o) 300 (d) 400
[n the adjacent circuit diagram the value of X will be :
20V
I
| e SRR T et
L. ronumon SNy . F\\‘ -
x 10 {2 i | ;
i e AANAAN P
Rheostat L g
(@) 1042 (by 2002 (c) 300 (d) 400

31 TE BT A VR 3w e e afly F R A wel sue we e fad ) w1
Yaol foran o war gfaa & wamees o e =t T 41 = g o
(a)  He (b)  eeeriey (€) - e (d)  um-fra=s
A student assembled all the apparatus needed to C':ll‘l‘}f_('.'ut the experiment for of
linding equivalent resistance of aparallel combinationi of resistacnes. He observed
that a device had no +ve of =ve terminal marked on it. That device is ;

(@  cel (b)  voltmeter  (¢)° ammeter: (d) rheostate

32 IR HEAW] K1 WA HA g e g femm o  veentEe a i @ @ e @ — 1
WATER
ALCOHOL~{:
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(a) T EH & F
(b) Selifel F1 TRTE o SR 3 T A Uehled o Frmf B S ¢
(c) HAE-TTR N AyigEl F FO |

(d) oo T el gud faated & wd €1

During an experiment on photosynthesis, in the step shown in figure below, the alcohal furns

arcen because

(a)  of heating
(b)  chlorophyll being organic in nature, dissolves in it
(\)  of the impurities of the surroundings

() evlls of leal disintegrate it

33 W#mwmmwﬁhéﬁim#ﬁmﬂ,mﬁﬁwaﬁﬁnmmﬁ 1
ferm 17T | TR IV & —

(a)  Avwr i ge 37 AT A g dm e 1 S} yaEd F1 T INE o |
(b)  Yig eireh & s el g g

() i el § T KOH BT CO, Tl T |

(W) () (c) F"rﬁ

In the experiment to show thatcarbon dioxide is given out during respiration, a rise in the
water level in the delivery tube 1s observed: It is due to:

(a)  An increase in the water content of the breaker as water is one of the products of
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respiration.
(b)  Creation of partial vacuum in the conical flask
(c) .-\ll:,urpl,ji.lﬂ of CO: by KOH ],‘l]dl.ul." in the l..'F!IlilJal flask

(d)  Both (b) and (¢)

34 foredt w1 rd HHA 1S 2T g 9 R € fR 9 g Fem T ¥ g § e w2
F11 3 Al fErEl O s A S @y Sl gewt st i ) g feerd § e el sl
afimin &1 2492 n{-:ifaﬂ{{

While performing an experiment a student observes that when he heat some green crystals in
a boiling tube, the colour of the crystal changes to brown and a gas evolves which smells like

burning sulphur . Interpret the observations and results.

35 freit foetturier fames T 9 400 mA 3500 mA 'ai'f‘f'@"ﬁ'iﬁ'ﬂ 20 YT ¥, T ATTAHIE Yildfen 2
iferu |

Find the least count of a millammeter in which there are 20 divisions between 400 mA and 500

mA marks

36 TF T T i w6 e %1 snunl smm fan A winge w1 geneyl O Ofwa w F 2
wv=T 3 e o i e el A, B, C a9 D i wgEfe el g am fafaw

A student prepared the temporary mount of stained leaf peel. After observing the slide under
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microscope, e drew the tollowing sketch, Identify and name the parts labelled as A, B, Cand
|1

=0ololo-
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